
SAP ABAP table VBAKR {Sales document structure for project reporting}

VBAKR

KDAUF [CHAR (10)]

AUFNR [CHAR (12)]

AUART [CHAR (4)]

AUGRU  [CHAR (3)]

WAERK [CUKY (5)]

VKORG [CHAR (4)]

VTWEG [CHAR (2)]

SPART [CHAR (2)]

VKGRP [CHAR (3)]

VKBUR [CHAR (4)]

GSBER [CHAR (4)]

GSKST [CHAR (4)]

BSARK [CHAR (4)]

KUNNR [CHAR (10)]

KOSTL [CHAR (10)]

KOKRS [CHAR (4)]

BUKRS_VF [CHAR (4)]

QMNUM [CHAR (12)]

VBELN_GRP [CHAR (10)]

AUFK

MANDT [CLNT (3)]

AUFNR [CHAR (12)]

 VBAKR-AUFNR = AUFK-AUFNR 
0..N

1

CSKS

MANDT [CLNT (3)]

KOKRS [CHAR (4)]

KOSTL [CHAR (10)]

DATBI [DATS (8)]

 VBAKR-KOSTL = CSKS-KOSTL 
0..N

{0,1}

KNA1

MANDT [CLNT (3)]

KUNNR [CHAR (10)]

 VBAKR-KUNNR = KNA1-KUNNR 
0..N

{0,1}

QMEL

MANDT [CLNT (3)]

QMNUM [CHAR (12)]

 VBAKR-QMNUM = QMEL-QMNUM 
0..N

{0,1}

T001

MANDT [CLNT (3)]

BUKRS [CHAR (4)]

 VBAKR-BUKRS_VF = T001-BUKRS 
0..N

{0,1}

T176

MANDT [CLNT (3)]

BSARK [CHAR (4)]

 VBAKR-BSARK = T176-BSARK 
0..N

{0,1}

TCURC

MANDT [CLNT (3)]

WAERS [CUKY (5)]

 VBAKR-WAERK = TCURC-WAERS 
0..N

{0,1}

TGSB

MANDT [CLNT (3)]

GSBER [CHAR (4)]

 VBAKR-GSBER = TGSB-GSBER 
0..N

{0,1}
 VBAKR-GSKST = TGSB-GSBER 0..N

{0,1}
TKA01

MANDT [CLNT (3)]

KOKRS [CHAR (4)]

 VBAKR-KOKRS = TKA01-KOKRS 
0..N{0,1}

TVAK

MANDT [CLNT (3)]

AUART [CHAR (4)]

 VBAKR-AUART = TVAK-AUART 

0..N

1

TVAU

MANDT [CLNT (3)]

AUGRU [CHAR (3)]

 VBAKR-AUGRU = TVAU-AUGRU 

0..N

{0,1}

TVBVK

MANDT [CLNT (3)]

VKBUR [CHAR (4)]

VKGRP [CHAR (3)]

 VBAKR-VKGRP = TVBVK-VKGRP 

0..N

{0,1}

TVKBZ

MANDT [CLNT (3)]

VKORG [CHAR (4)]

VTWEG [CHAR (2)]

SPART [CHAR (2)]

VKBUR [CHAR (4)]

 VBAKR-VKBUR = TVKBZ-VKBUR 

0..N

{0,1}

TVKO

MANDT [CLNT (3)]

VKORG [CHAR (4)]

 VBAKR-VKORG = TVKO-VKORG 

0..N

1

TVKOV

MANDT [CLNT (3)]

VKORG [CHAR (4)]

VTWEG [CHAR (2)]

 VBAKR-VTWEG = TVKOV-VTWEG 

0..N

{0,1}

TVTA

MANDT [CLNT (3)]

VKORG [CHAR (4)]

VTWEG [CHAR (2)]

SPART [CHAR (2)]

 VBAKR-SPART = TVTA-SPART 

0..N

{0,1}

VBUK

MANDT [CLNT (3)]

VBELN [CHAR (10)]

 VBAKR-KDAUF = VBUK-VBELN 

{0,1}

1

 VBAKR-VBELN_GRP = VBUK-VBELN 

0..N

{0,1}


